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Ans LUer All questtons.

(a) What do you mean by rain gauge?
Write in details abotrt the non-rccording
rain gauges.

(b) In a watcrshed the following clata *"r"
. recorded a self recording rain gauge :

Compute the
intensity.

maximum rainfall
5+10=15

'l'ime sirlce beginning
of the storm (t tr)

r5 30 45 60 75 90 105 r20

Accumulated
rainfail (mm)

15 40 60 75 95 135 170 175

Contd.



(a)2. Writc in details abclut Dcpth-Arca-
'I)uration relationship of a storun over a
catchment.

(b) A watershed has five non-rccording rain
gauges installed in its area. 'I'hc annual
rainfall recorded for one of the ycar is
as follows :

Iiain gaugc station I il UI IV V
Annual rainfall (.-) 90 1r0 175 95 125

Dctermine the optimum numbcr clfnon-
rccorcling and rccording rain gaugcs frlr
tlrc watershcd. Assume an cmor of loo/o
in. thc cstimation of mcan rainfall.

5+lO=15

I)cscribc how a currcnt metcr is uscd
for computation of velocity clf flow in a
strcam.

@ Dcscribc the type clf stage rccordcr for
mcasurcment of strcarn stagc. writc in
dctails about ana one of stage rccordcr

3. (a)

(a)4.

with figurc.

Describe thc
relationship for an
a catchment.

5+5= 1O

stagc - dis ch argc
unstcady flow ovcr
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@ Write a short nclte on estimation of
missing annual prccipitation data.

5+5=lO

5. (a) What do you mean by mass cunrc of
rainfall ?

@ Gcnerally water equivalent
is considered to bc cqual to

(c) What do you mcan by Isohyct and
I-Iyetograph ?

(d) I,'or what purpose controls arc laid out
in' a stream ?

(e) What do you mearr by rclativc stagc of
a strcarn? 5x2= I O

6. Definc precipitation and write down a short
description about all forms of precipitaticln.
Also writc down the water budget equation
for atmosphere. l5

Write down the standard sctting which arc
adoptcd for sitting a rain gaugc.

Writc down working principlc of wci$hing
bucket type rain gauge with figurc.

5+ lO= l5

of snowfall
o/o.

7.
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The ,noirnat annual precipitation of seven
rain gauge station A, B, C, f), B, fr, G are
respectively 135cm, Llzcm, 86cm, rzscm,
137cm, L42cm and lsbcm. f)uring a
particular storm the precipitation recordcd
by A, R, C, D, E and F are L4.5cm, l0.2cm,
7.8cm, 9.2cm, I l.Bcm and l2.6cm
respectively. The instrument at station 'G'
was damaged due to storm. Estimate
missing rainfall data at station 'G' during
that storm. 10
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